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1. siafeerart Ao & & et STt O 9eT IaTd F w9 § T 57

a. FIATESHIATH ST A
b.
C
d

TITAETAT TAT FATLAT
EINIEREERIPDIEEIER

. SULIRE g7

Which of the following is / are used as food supplement by space travelers?

a.
b.
c.

d.

Chlamydomonas and Volvox
Spirullina and Chlorella
Gelidium and Gracilaria

All of the above

2. ‘ArEEmrTEST e ¥ § R i gey A q907ar g2

a o op

AT HT FAH
FATATETZE T TRETRIEE
AT AT A
FAF AT qTSAT

Mycorrhiza is an association of which of the following?

a.
b.
c.

d.

Algae and Fungi
Bryophyte and Pteridophyte
Algae and Pinus

Fungi and Pinus

3. S ST FT HEH TSI FIEAH FIA 87

a.
b.
c.
d.

AT
STRCEIE
T
HIAEHT

The largest animal phyla are:
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b.

C.

d.
4. 99 ® ¥ F:9 q 7 U wqaarh £ fEfore ag=me g2

Arthropod
Aschelminthes
Mammalia

Mollusca

a. =« ufr
b.
c
d

T F
T 9T AT

. SO 99T

Which of the following is the specific identification of a mammal-

a.

b.

C.
d.
5. AR F Hay § FAeifha Fuei § § R (FIF-01T ) T7 FI9 987 872

a o o p

Mammary glands
External Ear (Pinna)
Body hairs

All of the above

T T AT T 2

T g9 F forT STET SIS il TZ07 F § 7 FIAT 8l
UL ZIAT

SULIH § F FE Aol

Which of the following statement(s) is / are correct with respect to Pneumatophores?

a.

b.

C.

d.
6. ‘I eTsR FT AT fAe # | faree forw R Srar 82

a0 oo

They are modification of stem.
They help in getting Oxygen for Respiration.
Both of the above

None of the above.

T 9T gi=rat it e

ATETAT IT TIRIAT F 9 TgA HT HH
ST | AISTE o & Tg F HH
o<t q¥ foreT e ferfearst &1 o

The term ‘Venation’ is used to designate:

a.

b.

C.

d

Pattern of arrangement of leaves on the stem
Pattern of arrangement of leaves on branches

The arrangement of ovules within the ovary.

The arrangement of veins and the veinlets in the lamina of leaf.
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N

a o o oo

it & & #t9 a7 777 92t gafera g2

FEferft qom: Fam wor s e ofT sieq & & 1 UF & ST 2
ORI IO : 38T To7 e T =0T ((hae T97 3729) HISE 8il
T2 &7 AT Yewa 7 grar g

ITE Tt

Which of the following pair is correctly matched?

a.
b.
c.

d.

Bisexual flower: Flower having either Stamens or only Carpels.

Unisexual flower: Flower having both Stamens as well as Carpels.

Root develops from Radicle.

All of the above

8. TUHITFAZ

a.
b.
c.
d.

TeTeRrs 3 forre &
it 3 P &
T A

T # & A A

Stomata helps in

a.
b.
C.

d.

Regulation of Transpiration
Gaseous exchange
Both of the above

None of the above

9. uTeYl § HagAl a &1 f=HTor Fwfed § & -3 wear g?

a

b.
C.
d.

UiIeH HITAHTT AT o7
FTEFT TAT UTATSHFA
FTarg qoT for

TSR ST FATTH

The vascular system in plants is composed of which of the following?

a.
b.
c.

d.

Epidermal cells and Stomata
Cortex and pericycle
Cortex and Pith

Xylem and Phloem

10. FrfEers wravefi wferenTd, 3 § freht fafere 9= 87

a.
b.

RES
EEd
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c. gT

Cardiac muscles tissues are characteristic feature of:

d. SULE # HE ARl
a. Liver

b. Kidney

c. Heart

d. None of the above

11. TR 3w fAehreras g1 T 7197 we " Atea & g9 Fo #§ ¥ w22

a. HeTHT
b. =T
C. I fEreett

d. IUIREH A THN

Fluid mosaic model proposed by Singer and Nicolson is related to:

a. Vacuoles
b. Mitochondria
c. Cell membrane

d. None of the above

12. Tt qHTT 90 FT AT HITo10,

A | T EIECEED]
g | THTEATATE EIEAT]

c | T T UF FAT
D | T FAIR2I532

Choose the correctly matched pair

A | Plastid Storage material
B | Amyloplast Protein

C | Elaioplast Oil and Fats

D | Aleuroplast Carbohydrate

13. Trerze ay, e | fhad Wear g7

a. TR
b.
C. d4a1
d. ST A

Peptide bond is found to be present in
SIRIUS EID 3fofierol Bd uforgior ufdug , Il [Tt ueel Ut |

(2023-24)

Page 4 of 14



b.
c.

d.

Carbohydrates
Protein

Fat

All of the above

14, 9 & & FI7 9T (FIF-F19 F) FI9 q87 87

et T JY0 Sa-Hed § TG99 AT AT S[Tar e 2l
.07 ST AL.UA.T FT AGATF T27 F A0 F A 7 Jra4v )
FIAST S ST § HEH STTEF ITAT ST arer Tei gl

. SO 99T

Which of the following statement(s) is /are correct?

a.
b.
c.

d.

RuBisCO is the most abundant protein in the whole biosphere.

DNA and RNA are termed as Genetic materials.
Collagen is most abundant protein in animal world.

All of the above

15. ‘wrosar 1 wior, e & B =3 § 7 Gy s . grar 87

a.
b.
c.

d.

a. R=arm
b.
c
d

STTRTIE
aferfe

. SE-FEAEE

Chiasmata formation takes place at which of the following stages of Meiosis?

Diplotene
Zygotene
Pachytene

Diakinesis

16. AT O & SIS, & a1 AT T 9718 & [T AT 872

a.

TE-Aele

b. ¥zre

c.
d.

IULIE a9T
IYLE | FIE Aol

The complex formed by a pair of synapsed homologous chromosome is called as

a.
b.

C.

Bivalent
Tetrad
All of the above
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d. None of the above

17. et & dag 9 T § § F19 97 (F9-504 97) FI9 Ge61 67

a. T TS & AT § 98T FaT g

b. =& sref-TET fAraTsI= & 919 & ST SATAT B

c. fosifEm & e, oAl & gt smeft w2 ST 8l
d. SUTrE s

Which of the following statement(s) is/are correct with respect to Meiosis?

a. It helps in formation of gametes.
b. Itis known as Reductional division.
c. During Meiosis, No. of chromosomes reduced to half.

d. All of the above.
18. 1 * fa@=o &1 qeer A9 ¥ & foFe 8

a. drua |

b. fru=. Il
C. TYUIH IMEI
d. SUO & S ARt

Splitting of water is associated with

a. PSI

b. PSII

c. Both of the above

d. None of the above
19. 991 § | &I9 97 F99 Gal 7al 87
a. fcad 9% w1 C: 9% o ATH T T T SAT4T 21
b. TF-T% = & Cy4 =k & ATH & T ST ATAT B
c. ‘aier aTOTERT, Cy el #it fafarear 21

d. Cg T ®, siiereTua s UiHE, FTad STI-A 12 T I ATt 8

Which of the following statement(s) is/are not correct?

a. Calvin cycle is also known as Cs cycle.

b. Hatch Slack cycle is also known as C4 cycle.

c. Kranz anatomy is characteristic feature of C4 plants.

d. In C4 plants, primary CO2 acceptor is Oxaloacetic acid (OAA).

20. T H, AT 1 IiEed, 7T =9 § e #9 § grar g7
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a. @rEre

b. si-geraE

C. FATFI-EHNATET

d. aEwEEe

Oxygen in blood, is mainly transported as
a. Oxygen

b. Oxyhemoglobin

c. Carboxyhemoglobin

d. Bicarbonates

21, U FTHT A9 & S0, a1 1 ag 97 S5 o717 # i forar war g = {5 oifiw & arge et vy,

ATl &
a. IR R srgae

b. wwateh o s
C. YT A Faq

d. IS AFaq
Volume of air inspired or expired during normal respiration is called as
a. Inspiratory reserve volume
b. Expiratory reserve volume
c. Residual volume
d. Tidal volume
22. AT T T F g H T Rl AT FHIF TG1 Aol 52

a. TE IHATHAAAA SHIT T ZraT 2l
b. =&t sftae srafer simas ¢ o oAt i gt 2
C. TAIGT I AT T<h 0T & HigedTd HT FHgl 1T gl

d. == ‘TgHETEeH % AT 8 | ST St gl
Which of the following statement (s) is not correct with respect to RBC?

a. RBC is Biconcave in shape.
b. It has average life span of 120 days.
c. Spleen is known as Graveyard of RBCs.
d. They are also known as Leucocytes.

23. ‘wftrrsareertay fhRefom’ e & & e gafaa 872
a. Rh-ve #maT 3w Rh+ve faar
b. Rh-ve f¥ar sfiw Rh+ve #mar
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C.

d.

Rh-ve faqr 3w Rh-ve #1aT
Rh+ve fo4T =fiw Rh+ve d1aT1

Erythroblastosis foetalis is related to

a.
b.
c.

d.

Rh-ve mother and Rh+ve father
Rh-ve father and Rh+ve mother
Rh-ve father and Rh-ve mother

Rh+ve father and Rh+ve mother

24, fg=ehta e, e & & s A= arft STt 22

a o o p

HRIBEERIC R IRINE R

Bicuspid valve is found to be present in between:

a.
b.
c.

d.

Right auricle and Left auricle
Right Ventricle and Left Ventricle
Right auricle and Right ventricle

Left auricle and Left Ventricle.

25. AR &1 =9 978 F A7 7 T 86

a0 o p

-T2 g
ST gl
AT T
ATITAHRTATT ZTHIT

Vasopressin is also known as:

a.
b.
C.
d.
26. 1. HE (weroe "garfeorg wfernn) & defed et wot § & Fi7 |47 F97 T2 T8l 2 ?

a o oo

Anti-diuretic hormone
Diuretic hormone
3F hormone

Emergency hormone

Tg FUTAT HLAATIh A FLATSA RITARTA T TAT 2T gl
g TALTALIIOT TAT S FT &I AT 21)

THH qIEMATEE 91T ST &
SUE H | FE TRl
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Which of the following statement(s) is not correct with respect to P.C.T (Proximal

Convoluted tubule)?

a. ltis lined with Simple cuboidal brush border cells.

b. Itis major site of Reabsorption and Selective secretion.

c. It contains Podocytes.

d. None of the above

27 . R A 1T 7 Haer e & o Frar 872

a. =

b. =t

c. HiEawh

d. ¥

Organ of corti is reltated to

a. Eye
b. Ear
c. Brain
d. Heart

28. 77 T garg Hady uTd FT FEATdt 57

a. T
b. =T
c. fear
d. sifaear

The inner most layer of Eye is known as

a. Sclera
b. Cornea
c. Retina

d. Conjunctiva

29. o RF I T RAHT A AT F7 Ft AagdT warg?

a. EEIrEAE
b. feifas® e
c. #fme g
d. 39T At

The Centre for controlling body temperature is situated with in:

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

[sifSet u%sl UsT | (2023-24)

Page 9 of 14



a. Hypothalamus
b. Limbic lobe
c. Cerebral hemisphere
d. All of the above
30. 791 & & &9 (-19) § FTHIA T AT A ESITHIIEH & T grar 82
a. SrETerte SiY Jemtee
b. Wt ¥ ta.uH

c. FrFgmE
d. 39 At

Which of the following hormone(s) is/are secreted by Neurohypophysis?

a. Oxytocin and Vasopressin
b. Prolactin and LH
c. Growth hormone
d. All of the above
31. 7 & 7 T straraeRTent eI & 918 F off ST At 87

a. ufgHfee
b. s

c. fruaue
d. vHr.Hoa

Which of the following is also known as an emergency hormone?

a. Adrenaline

b. Thyroxine

c. TSH

d. ACTH

32. o &1 & 9 § & 6| AITAHT F gRT grar 8 ?

a. a- FwIHTT

b. B- =T

C. Y-FIIHTT

d. O- Iy

Insulin is secreted by

a. a-cells
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b. B-cells
c. y-cells
d. d-cells
33. {9 & & Fre AT gTHIA (ST F g STrAd grar 272

a. UENH
b. W

C. SUUh T+t
d. IO § & A Aat

Which of the following hormones are secreted by Ovary?
a. Estrogen

b. Progesterone

c. Both of the above

d. None of the above

34. =t FwferenTd Iufeerd wEdt 8

a. =TT H
b. Fuw#H

C. AT=HAH
d. swmeT H

Leydig cells are found to be present in
a. Ovary
b. Testis
c. Thymus
d. Pancreas
35. 9% & & F9 US| &7 U 3T 87
a. TS T stRfertae
b. TFEEN

c. T=.HY. S sfi¥ v=.dtue
d. W

Which of the following is an example of Androgen?
a. Progesterone and Oxytocin

b. Testosterone

c. HCG and HpL

d. Prolactin
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36. FAT F T § I AT g HET FLAT 87
a. =fem
b. sifasw
c. FrafRfeow
d. ®TEErrEfAT

Which of the following hormone helps in ripening of fruits?
a. Ethylene

b. Auxin

c. Gibberellin

d. Cytokinin

37. 9Tedt ® FETT F AT T TARAT FE AT 3
a. TrHAT
b. dwwd
c. wrerMifafesy

d. vafFEe

Process of ageing in plants is termed as
a. Dormancy
b. Senescence
c. Photoperiodism
d. Abscission
38. ot & IeAtora A T /AT (A FraeT grar g2
a. 180 wfrex wfafaw
b. 125 et wfa fee
c. 1.5 e gfafes
d. 5&ftex afafes
The volume of Urine released per day is equal to:
a. 180 litre per day
b. 125 ml/minute
c. 1.5litre / day
d. 5litres/ day
39. e # & T oiq 99 & 9T FIghIT gaT AT AT 872
a. #EeA

b. weft
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C. WIH=Z
d. 3uarE gt

Which of the following animal group will consist of 4 chambered heart?
a. Human

b. Aves

c. Crocodile

d. All of the above

40. 99 3T = FT AT FT AHTT ZraT g, 7 —
a. FICIIEA

b. e gad g
C. FIAISHFATE
d. ITTrE Tt

The sound of LUB and DUB is produced when
a. Valves are closed

b. Valves are opened

c. Heart beats

d. All of the above
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(2023-24)
®ar- 11 fererr- Sfta ferstrot
Answer
1 b 9 d 17 d 25 a 33 c
2 d 10 c 18 b 26 c 34 b
3 a 11 c 19 d 27 b 35 b
4 d 12 b 20 b 28 c 36 a
5 b 13 b 21 d 29 a 37 b
6 d 14 d 22 d 30 a 38 c
7 c 15 a 23 a 31 a 39 d
8 c 16 c 24 d 32 b 40 a
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